UMW #D 7, 14,42 §

(MW #E 2,313 AP 1984, (3 )

fHW#V A,24, 9—‘7135
MIN (A DM

CoOMNTROL. =EFFoRT PROB =1
Problenwy Formoldetiow L

FuncA o conttol

TES 60%5%3@%

M- S0 @) £ My

whieh bransfers = sSysleun descﬂ‘m&\ by
R A = o (32, WA,
Lrouwn an w‘bt}ra;r% Tl Ha@ stole xg to o

9}9&@&0&& %cs—*t*fﬂ:e}' sed S ) T HN o MmOl Cvin caaas
e xyDendLiure of- cConttee e_%%grl—

AS = Meoswte of conhold effert we consote

o 'é’r AR } Yy | AN NN B
o) T = § [ Z A REe | Luel problews
o
ﬁ, ™ oAl V \ N TN TN EALA
b) J, ¢ =4 [é LWy G&:}] Ak Snersyy  problecw
0

MIRIMOUAH FOSH PRoOBLEM

Fot— o lows 8f AncmUmieian — S ,pa—c’&olw

< =

| |
o (<D, D > B CAE A () ﬁeor FTRRONG
S - m
= S [ ) Iu{;(%)(]c&{l -{g oYL 4
- L, | & » ?
1 p)
Hx, 0

Py = 2 U] e ® + B G ) uen)

T=1


http:c=A-SZ1"3L�.tJ

“M

T ‘ -
S el | + g5 o680 + 7T BGE B

=
-
[aice) | + 35" i},z“{/%) + p*Tt% M) L

-

M3

o

-
S| + PR ) B LD o™ £

(i@ ] 73* B G2 O

IMs

ot v express B on M&om

P GEE) = [ by (<58 by Lﬁté—)z -} Bm Cx‘;{%ﬂ
=D

-1 ’ 4 T
‘ TS ‘ + ‘Pk{?%:”) b (DU | el |+ P‘h b (1) U

D ut >0

—0AE)Y  vUE) <« O
= .
-t " -
(44 pPPeobe G-I vt £ (4 + 5 bl 1] o , vi»o

el

[-4+ PO b v ] ul & L+ P be e i 5 A& O

4 e < PO b GRNE) < — 4 ‘
‘ A =41
O - £, { Ve e e
U‘ZG}A _ A ) < + 1 T 1
B -A +4 < f L 4+ o
underermmed. pF bi(LAtY =+ 4 SONGuelat—
S0l L So Lot

B A N — NEETE e 12 Ao 25 TN ALTTIN o™



2.6, DINGULAR TIRTERNVALS IR OPTIMAL. CONTRAOL
H OGS, oy pT) & HGSK wy PY)

I% e Prou{,;:ﬁef) mne C’V\%mﬁo«?ﬁbﬂ ohoat relatmshd
amorg u*y P amd XN D sOhgedar »Problw

(E»5, 6-1)
> mun Fome. proble,
X9 = (n L)l 44

H= t+ prxp +~PatA

A+ P/{"%ﬁk&-gﬁkm"‘ ~ 4—+—~P3’§"x§’ .4_,17;;@\

TS qa}_‘t,-.;;-') = 0O, telad) =» surgvlac problecs

, e
v %} — > ﬁ'} 5 A) = — oyt +Ca
= P2

~
Ty = = prE) =0 = H =4
Pl =0 PR

H =0 Sor the Lemol Fome Sree Pmbl&.;

aiépo H Aves, wnor expllice ge'@at Aejrencts ond




Stngolar Intervsle tn Zoneor Tiwe -Optrmsd Hoblem:

A= Axeba |e&Dd]L4.0

AN _i._L,{f? AS3E g P*be,f* 4 4+ 'P*’ta‘xﬁk)“p*?bi)\

the Gonaod Fume 15 Sree = HT = 0O

V T T ’
D 4s P bt =0

W= o sgedar wnlerist 5 Lo sz%3 b=0, ftefu )

P # & stnce H(p-o) =4 +o
“hos -
/ff b = St e (A k7
also
C;LJ\
AR CpwHb) =0 W=24,0,_ .-
K YGPICN
o Erob) = 0O
o’ 2v T
Pe-Zx=rtA = F=-~F = pa=-e"k
- ke N A Fon
& P= FA)ET S b =0 (e EN AL =
2 3ﬁ o
i "km _— - >
faPs o = ¢ IR =0



= (biab &5 . - AT ] st be songedon—

For rcx 5%«3&&@;—- LSWW% Wa i+ s Y’Q@aﬁ%
Lhal The 3SYsters. TS UNCONTROLLABLE

SinguiAp. Intervals v Linesr Foel- Optimal Problem:

he Corar home 15 Shee = H=0C
<. 5.6-2.
4 = o
2 =G
H (o, p) = o]+ Pa o Py U

AT IR e, e BIPAE WG I, AL D
iy &

\ s e L -
() o] i) <T@ +plee) wre) =o

DNGadot uteriyaz e gar .

— 4o (4 ' :
Py = X4 = P =0



pler) =y . —
=t oy fi&wiz& = g=o0 = D’?‘m
6(»’\0(@«»{“ LSV\}*QQ“U@JL/ Cotn ek Even ‘%H}Qw LR

=5

R e -1 S (S CS Y

T (W) w—% [VZET T






O
¥
1\

‘;iq = ¥ . .
‘ PlRIMes . S wus” caw
,42 =%+ ¥ 1 ' -

s
=0 luey ot Judl & A

()~ =1 =-p2
(2 - oM ;

s R=-S X FTVITUITN pL-ULu c..xl,p@e

| )+ pa St & |l e P gt aada
I
A+ pgy;:] 4 €A AL P O
A& 4 PQ‘_: Xl’k L) =
[_1 . P;*;_.\M@ﬂ LALR) QO

1 Py Xa® < ~1
day={-1  pixg > 4

QO -1« Pixy <

undeteuwrminesd mMouuegoltive ~velue Pt = ~ 4
tmoeleuired moupostitive voelue Pt = A
4° L= ‘
. > o own -
% N PR — ' -4 NS
2 4} fa Nt rm = = .= L%g }\Q.—.w—,z*
™M .

Pr= G ety et

Pa=Cs e}m%’ —cy e rat



50

“ =g () (© 4| 1er-M\=(3 "i\:ecsm-«
>‘;”2 = ¥4 4 pn L;{:& 4 L2 - s -1
aZFe Ao = :ﬁ:mg e =2 0
de 79 éﬁ&’F MQGS:‘}: -
Xp = V= Sy, a3t
G =4
. o . \ A
Pl g {_}\‘I:»M'l—‘r[)\ b= N1 =4
[2 ~1 4 [ Pa] A »-
== = Xa:ﬁf—,g;g >\H='H-;§:§
‘2\__ -
Pr=c, ey coe™t
Pa=co e, Cg e T
- . - - A
o rer (N -
EINHN R v R
% - J St
shis-t=0 = %3’“*;{: %H:bdm-g%
= Ls €%, pge™?
o= Uo et paest
&f:o
(ANE AR SRR,
Pr=co @R g, et
™ =Gue? rin aret

21-05 2060

4 = Ug eaa%-é-t.{go e%%
Ss% “ et
Xo= Um & Mo <

il
N .

1S (g eticee™ )y éﬂi—m e>ty » A

0 S-1<(€y e»}\s%-% Crp €% (K S, L&ae%) <4
wrdedercuamed "ﬂwmacpﬂl\-fe polue P‘;KS: = - |
(uw[ei@i’wvtuecﬁ NoLPOSTELNC  volie Pz Xy = +4



